	№
	Pэт
	n
	Pф
	ΔP
	A
	B

	1
	1
	42
	
	
	
	

	2
	2
	83.5
	
	
	
	

	3
	3
	125
	
	
	
	

	4
	4
	167
	
	
	
	

	5
	5
	210
	
	
	
	

	6
	6
	250
	
	
	
	


Проверка манометра
Pкон=6	Pнач=0

Иллюстрация уравнения Бернулли
	№
	П1
	П2
	П3
	П4
	П5
	T
	W
	Q
	V1
	V2
	Hv1
	Hv2

	1
	99,93
	99,35
	99,3
	99,28
	99,2
	10
	0,099
	
	
	
	
	

	2
	99,91
	99,08
	98,99
	98,95
	98,78
	10
	0,12
	
	
	
	
	

	3
	99,87
	98,59
	98,47
	98,4
	98,01
	10
	0,2
	
	
	
	
	

	4
	99,8
	98,7
	97,77
	97,15
	97,15
	10
	0,25
	
	
	
	
	

	5
	99,5
	94,6
	94,94
	94,83
	93,82
	10
	0,34
	
	
	
	
	

	6
	98,77
	86,42
	87,34
	87,16
	84,35
	10
	0,59
	
	
	
	
	

	7
	98,52
	83,72
	84,95
	84,7
	81,29
	10
	0,65
	
	
	
	
	

	8
	96,72
	63,99
	66,58
	65,74
	57,7
	10
	0,99
	
	
	
	
	

	9
	95,98
	55,7
	58,96
	58,2
	48,2
	10
	1,1
	
	
	
	
	

	10
	92,95
	22,35
	28,19
	26,91
	8,5
	10
	1,49
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